Kim Crawford

From:

Kurt Bartley <rotarykurt@outlook.com>

Sent:

Wednesday, December 29, 2021 11:23 AM

To:

Kim Crawford

Subject:

Re: Your order confirmation #390133999- Webb uniforms # 2

Approved for payment.

Service Above Self, Kurt Bartley, *CAP*® M: 720-985-5123

Rotary Club of Arlington

2021-22 President 2020-21 President Elect PO Box 121045 Arlington, TX 76012

The University of Texas at Arlington

Sr. Director for Gift & Estate Planning D: 817-272-9387 (2016-present)

Sent from my Metro By T-Mobile 4G LTE Android Device Get <u>Outlook for Android</u>

From: Kim Crawford <kim@sfcllp.com>
Sent: Monday, December 27, 2021 9:23:00 AM
To: Kurt Bartley <rotarykurt@outlook.com>

Subject: FW: Your order confirmation #390133999- Webb uniforms #2

Can you please send me an approval for these two orders to reimburse Jill?

Kim Crawford, CPA Partner



600 Six Flags Drive, Suite 600 Arlington, TX 76011 O: 817.649.8083



15:100 3915:100 3510,00 31510,

Hi michael,

Thanks for your recent purchase! Once your order ships, you'll receive a shipping confirmation email with a link to track package. Your order summary is below.

Order Number: 390133999 Order Date: December 17, 2021

My Place Rewards Number: B10000943923861

Payment Method: PAYPAL/VENMO ending in 1125

Shipping Method: Standard | Arrives by Wed, Dec 22

Billing Address: michael regina

3800 Sunset Ln Arlington, TX 76016

US

877-752-2387

Shipping Address:

Jill Regina 3800 Sunset Ln Arlington, TX 76016

US

(817) 909-1937

Item		Size	Quantity	Price	Total
X 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	Boys Uniform Pull On Chino Cargo Pants Color: FLAX UPC#: 00700953898517 Item#: 2008354002	4	3	\$10.39	\$31.17
X 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	Boys Uniform Pull On Chino Cargo Pants Color: NEW NAVY UPC #: 00700953920492 Item #: 2008354011	4	3	\$10.39	\$31.18
X 1	Boys Uniform Pull On Chino Cargo Pants Color: FLAX UPC #: 00700953898548 Item #: 2008354005	7	7	\$10.39	\$72.74
×	Boys Uniform Pull On Chino Cargo Pants Color: NEW NAVY UPC #: 00700953920522 Item #: 2008354014	7	7	\$10.39	\$72.74
×	Boys Uniform Chino Pants Color: NEW NAVY	7	15	\$10.39	\$155.88

×	UPC #: 00889705118476 Item #: 2007636006				
×	Boys Uniform Pleated Chino Pants Color: FLAX UPC #: 00889705118506 Item #: 2007636009	14	15	\$10.39	\$155.88
x ;;	Boys Uniform Pleated Chino Pants Color: FLAX UPC #: 00889705456608 Item #: 2007636030	16	15	\$10.39	\$155.88
× :::	Boys Uniform Chino Pants Color: NEW NAVY UPC #: 00700953898678 Item #: 1101084020	4	10	\$10.39	\$103.92
× ;	Boys Uniform Pull On Chino Cargo Pants Color: FLAX UPC #: 00700953918383 Item #: 2008354006	8	7	\$10.39	\$72.73
× 11.	Boys Uniform Pull On Chino Cargo Pants Color: NEW NAVY UPC #: 00700953898715 Item #: 2008354015	8	7	\$10.39	\$72.74
× :::	Boys Uniform Pull On Chino Cargo Pants Color: FLAX UPC #: 00700953898562 Item #: 2008354007	10	7	\$10.39	\$7 2.73
× i	Boys Uniform Pull On Chino Cargo Pants Color: NEW NAVY UPC #: 00700953898722 Item #: 2008354016	10	7	\$10.39	\$72.74
× 11	Girls Uniform Stretch Bootcut Chino Pants Color: TIDAL upc #: 00889705212839 Item #: 2043302026	5	16	\$10.39	\$166.26
×	Boys Uniform Pull On Chino Cargo Pants Color: FLAX UPC #: 00700953898586 Item #: 2008354009	14	7	\$10.39	\$72.73
×	Boys Uniform Pull On Chino Cargo Pants Color: NEW NAVY UPC#: 00700953898104	14	7	\$10.39	\$72.74

Boys Uniform Pull On
Chino Cargo Pants
Color: NEW NAVY 6 7 \$10.39 \$72.74

UPC#: 00700953920515
Item#: 2008354013

*Note: All prices and totals reflect application of web code discounts, if any,

Subtotal: \$3,845.60 **Shipping:** \$0.00

Shipping Tax: \$0.00

Tax: \$317.82

Order Total: \$4,163.42

STYLES YOU'LL LOVE





\$38.99

\$59.95-35% OFF

Boys Uniform Pull On Chino Cargo Pants 3-Pack

BUYIT NOW The blad improvements degreed. The factor of th

Please take a moment to add <u>TheChildrensPlace@childrensplace.com</u> to your address book.

PRIVACY POLICY | CONTACT US

Kim Crawford

From:

Michael Regina <mrmreg@sbcglobal.net>

Sent:

Thursday, December 23, 2021 10:27 AM

To:

Kim Crawford

Cc:

Kurt Bartley

Subject:

Fwd: Your order confirmation #390610817- Webb uniforms #1

Thank you for the last check!

Here is one of the orders I have placed for uniforms for Webb. Three different people told me on the phone that they would reimburse me for tax, so I will forward the other order to get and if you can approve payment for those two, I will update you again when I order more. My game room is becoming incredibly full of uniforms... And I've only spent about 1/3 to 1/2 of the money. Turns out that \$9000 worth of school uniforms is a LOT of uniforms!!! Lol.

Thank u! Jill Regina

Sent from my iPhone

Begin forwarded message:

From: The Children's Place | Gymboree | Sugar & Jade <noreply@childrensplace.com>

Date: December 20, 2021 at 4:43:30 PM CST

To: mrmreg@sbcglobal.net

Subject: Your order confirmation #390610817

As a My Place Rewards Credit Card Cardholder

YOU'LL GET A \$70 REWARD WITH THIS PURCHASE!

Log in to Manage your Account

We're processing your request!



SHOP THE CHILDREN'S PLACE

SHOP GYMBOREE

SHOP SUGAR &

JADE>

Boys Uniform Performance Polo 3 - Pack Color: NAUTICO UPC #: 0019493642077 Item #: 3020056018 Em #: 3020056018					
Performance Polo 3- Pack	Performance Polo 3- Pack Color: NAUTICO UPC#: 00194936462077	XS (4)	3	\$21.25	\$63.75
Series Polo Color: TIDAL (16)	Performance Polo 3- Pack Color: NAUTICO UPC#: 00194936462107	L (10/12)	4	\$21.25	\$85.00
Performance Polo 3- Pack Color: NAUTICO UPC #: 00194936462091 Item #: 3020056015 Girls Uniform Soft Jersey Polo 2-Pack Color: TIDAL Wiffer #: 3011214009 Girls Uniform Soft Jersey Polo 2-Pack Color: TiDAL Wiffer #: 3011214001 Exit	Jersey Polo Color: TIDAL UPC #: 00193511074377		8	\$4.13	\$33.05
Jersey Polo 2-Pack Color: TIDAL M (7/8) 6 \$8.26 \$49.58	Performance Polo 3- Pack Color: NAUTICO UPC#: 00194936462091	M (7/8)	4	\$21.25	\$85.00
Seriest Polo 2-Pack Color: TIDAL XL (14) 6 \$8.26 \$49.58	Jersey Polo 2-Pack Color: TIDAL UPC#: 00193511779098	M (7/8)	6	\$8.26	\$49.58
Performance Polo 3- Pack Color: NAUTICO UPC #: 00194936462084 Item #: 3020056014 Girls Uniform Soft Jersey Polo 2-Pack Color: TIDAL UPC #: 00193511779104 S (5/6) 3 \$21.25 \$63.75 L (10/12) 6 \$8.26 \$49.58	Jersey Polo 2-Pack Color: TIDAL UPC#: 00193511779111	XL (14)	6	\$8.26	\$49.58
Jersey Polo 2-Pack Color: TIDAL UPC#: 00193511779104 L (10/12) 6 \$8.26 \$49.58	Performance Polo 3- Pack Color: NAUTICO upc #: 00194936462084	S (5/6)	3	\$21.25	\$63.75
	Jersey Polo 2-Pack Color: TIDAL upc#: 00193511779104	L (10/12)	6	\$8.26	\$49.58

*Note: All prices and totals reflect application of web code discounts, if any.

Subtotal: \$715.40 Shipping: \$0.00

Shipping Tax: \$0.00

Tax: \$59.26

Order Total: \$774.66



\$14.00

\$21.95-36% OFF

Boys Uniform Pique Polo 2-Pack

BUY IT NOW